
 

   Marks) 53( Q.1: 
Design a simply supported rectangular reinforced concrete beam for flexural 
requirements according to ACI code. 
Assume: 

•Concrete of fc' =24 MPa. 

•Steel fy = 420 MPa. 

•Use ρ=0.5ρmax and d/b =2 

•Rebar diameter 25 mm for longitudinal reinforcement. 

•Rebar diameter 10 mm for stirrups. 

•WD=10 kN/m (including self-weight) and WL=15 kN/m 
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Marks)35 ( Q.2: 
Determine the capacity moment ØMn of the T- beam shown. 
Assume:  fc`=24MPa, fy=414MPa, AS=6Ø20. 

 

Marks) Q.3: (30 
  For the beam shown in Fig. calculate 

the instantaneous deflections due to 

the applied dead and live loads.  

Use normal-weight concrete with 

f’c=28 MPa and fy=420 MPa. 

Assume that the wD values shown 

include the beam weight.  

Es =200 000 MPa. 

 


